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VYMHOXBTE JCCATHUYHBIC I[pO6I/I Ha OTpULATCIIbHBIC

875 ] CTCTICHH JIeCSTH.
Umst: Jata:_ OneHka:
5717,9 x 0.01 = 8940,9 x 0.001 =

7202, 9 x 0.001 = 5250,6 % 0.01 =

4561,4 % 0.01 = 7861, 3 x 0.001 =

5878,8 x 0.01 = 8811, 7 x 0.0001 =

7254,2 % 0.1 = 6014, 2 x 0.001 =

4100, 5 x 0.001 = 6305, 1 % 0.001 =

7717 x 0.1 = 6907, 4 x 0.0001 =

5828, 6% 0.01 = 8410, 8 x 0.0001 =

9541,2 x 0.001 = 8036,1x 0.1 =

1609, 3 x 0.001 = 6596, 5 x 0.001 =
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YMHOXKBTE IECITUYHbIE APOOH HA OTPUIATEIbHBIC
CTETIeHU JECSTH.

5717,9 x0.01 = 57.179

7202,9 x 0.001 = 7.2029

4561,4 x 0.01 =45.614

5878,8 x 0.01 = 58.788

7254,2 % 0.1 =725.42

4100, 5 x 0.001 = 4.1005

7717 x 0.1 ="771.7

5828,6 % 0.01 = 58.286

9541,2 % 0.001 = 9.5412

1609, 3 x 0.001 = 1.6093

Jlara: Orenka:

8940, 9 % 0.001 = 8.9409

5250,6 x 0.01 = 52.506

7861,3 % 0.001 = 7.8613

8811,7x0.0001 =0.88117

6014,2 x 0.001 = 6.0142

6305, 1 x 0.001 = 6.3051

6907,4 x 0.0001 = 0.69074

8410, 8 x 0.0001 = 0.84108

8036, 1 % 0.1 = 803.61

6596, 5 x 0.001 = 6.5965
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